

Reappear Grade Sheet of B_Tech CSE_3rd_Semester_October 2020

			oduction t				Material	s Science				
		CSU100 CSU024						J024				
Sr.	Reg. No.		Credit I	Hours- 4			Credit 1	Hours- 3		Total Registered	Total Point	Grade Point
No	Keg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
1	1654302014		N.	.A		A+	3.00	9.00	27.00	3.00	27.00	9.00
2	1654302039	A	4.00	8.00	32.00		N	.A		4.00	32.00	8.00



Reappear Grade Sheet of B_Tech CSE_4th_Semester_October 2020

		I	Artificial I	ntelligenc	e		DDI	BMS		Distr	ributed Op	erating S	ystem			
			CSU	J130			CSU	J105		CSU019 Credit Hours- 4						
Sr.	Dog No		Credit I	Hours- 3			Credit l	Hours- 4			Credit 1	Hours- 4		Total	Total Point	Grade Point
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1654302010	A	3.00	8.00	24.00		N	.A			N	.A	•	3.00	24.00	8.00
2	1654302014	A	3.00	8.00	24.00	A+	4.00	9.00	36.00	В	4.00	6.00	24.00	11.00	84.00	7.64
3	1654302039	A+	3.00	9.00	27.00		N	.A			N.A				27.00	9.00
4	1654302046	A+	3.00	9.00	27.00		N	.A		A	4.00	8.00	32.00	7.00	59.00	8.43



Reappear Grade Sheet of B_Tech CSE_5th_Semester_October 2020

Analysis and Design of Algorithm Computer Networks Data Sciences using Python	C	Open Elective V						Mobile Te	echnology	,																
			CSU083				CSU087			CSU188				OE							CSU	J118				
Sr.	Dog No	Credit Hours- 4			Credit Hours- 4			Credit Hours- 4				Credit Hours- 3					Credit Hours- 4				Total Registered	Total Point	Grade Point			
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits		Point Secured			Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
1	1654302007		N	.A			N	.A		A	4.00	8.00	32.00			N.A				N.A				4.00	32.00	8.00
2	1654302010	0	4.00	10.00	40.00		N	.A		A+	4.00	9.00	36.00			N.A			A+	4.00	9.00	36.00	12.00	112.00	9.33	
3	1654302012		N	.A		A	4.00	8.00	32.00	В	4.00	6.00	24.00				N	.A		О	4.00	10.00	40.00	12.00	96.00	8.00
4	1654302016		N	.A		0	4.00	10.00	40.00		N.	.A	,	Ethical Hacking	OE055	A 3.00 8.00 24.00		24.00	N.A				7.00	64.00	9.14	
5	1654302039		N	.A		A	4.00	8.00	32.00	A+	A+ 4.00 9.00 36.00 Introduction to Taxation and C		Introduction to Taxation and GST	OE050	A 3.00 8.00 24.00			24.00	N.A			11.00	92.00	8.36		



Reappear Grade Sheet of B_Tech CSE_6th_Semester_October 2020

			Information	on System	l	Block Chain				Computer Forensic				Softw	are Engine	eering & T					
			OE	058			CSU	J106			CSU	J128									
Sr.	Dec No		Credit I	Hours- 3			Credit l	Hours- 4			Credit 1	Hours- 4			Credit I	Hours- 4			Ava. Secured Ava. 4.00 24.00 6 4.00 32.00 8 8.00 48.00 6 3.00 30.00 10		
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Point Average	
1	1654302007		N	.A			N	.A		В	4.00	6.00	24.00	N.A				4.00	24.00	6.00	
2	1654302010		N	.A			N	.A		N.A				A	A 4.00 8.00 32.00			4.00	32.00	8.00	
3	1654302012		N	.A		A	4.00	8.00	32.00	P	4.00	4.00	16.00		N.A			8.00	48.00	6.00	
4	1654302016	О	3.00	10.00	30.00		N	.A		N.A				N.A				3.00	30.00	10.00	
5	1654302046		N	.A			N.A N.A					A+	4.00	9.00	36.00	4.00	36.00	9.00			
6	1754302061	A+ 3.00 9.00 27.00				A	4.00	8.00	32.00		N	.A	•		N.A 7			7.00	59.00	8.43	



Reappear Grade Sheet of B_Tech CSE_7th_Semester_October 2020

		Network Marketing				I	Introduction to Music				Network Security and Cryptography				Neural Networks				SPRIN	NT-VII				
			OE	054			OE	047			ESU	J025			CSU	J310			SP	007				
Sr.	Reg. No.		Credit I	Hours- 3			Credit	Hours-			Credit 1	Hours- 3			Credit I	Hours- 3			Credit l	Hours- 2		4.00 8.00 59.00 4.00 2.00 14.00 3.00 30.00	Grade Point	
No	Keg. 140.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured		Secured	Average
1	1654302007	С	3.00	5.00	15.00		N.	.A		N.A				О	3.00	10.00	30.00	B+	2.00	7.00	14.00	8.00	59.00	7.38
2	1654302012		N.	.A			N.	.A		N.A				N.A			B+	B+ 2.00 7.00 14.00			2.00	14.00	7.00	
3	1654302014		N.	.A			N.	.A			N	.A		О	3.00	10.00	30.00	N.A			3.00	30.00	10.00	
4	1654302039		N.A N.A							N	.A			N.	.A	•	В	2.00	6.00	12.00	2.00	12.00	6.00	
5	1654302046	N.A N.A					0	3.00	10.00	30.00	A+	3.00	9.00	27.00		N	.A		6.00	57.00	9.50			
6	1754302061	N.A A+ 3.00 9.00 27.00						N	.A			N.	.A	•		N	.A		3.00	27.00	9.00			



Reappear Grade Sheet of B_Tech CSE_8th_Semester_October 2020

			SPRIN	T-VIII				
			SP	008		Total		Crada
Sr.	Reg. No.		Credit I	Hours- 2		Registered	Total Point	Grade Point Average
No	Keg. 140.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	
1	1654302039	В	2.00	6.00	12.00	2.00	12.00	6.00

Date of Issue: 10.11.2020 Prepared By

Checked By Controller of Examination